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0) Evaluate this exercise
	Grade [0,5]+comments

	

	Challenge (0 easy, 5 too hard)
	

	Usefulness (0 none, 5 very)
	


1) Low-pass RC filter
	Capacitance for 14MHz cut-off frequency
	

	Check the gain response at 100MHz and 1GHz.  What can you conclude about filter order from the gain values at these points?
	


Please add the following figures: 
Fig. 1) Vout for 14MHz cutoff frequency.
Fig. 2) Vout for Cl sweep from 1pF to 20pF with step size of 4pF 
2) CMOS Inverter
	What difference you observe in Vout waveform when PMOS finger width is changed to 1um 
	


Please add the following figures:
Fig. 3) CMOS inverter transfer characteristics. Vout vs Vin sweep from 0V to 1V with 0.05V step
Fig. 4) CMOS inverter transfer characteristics when PMOS finger width is changed to 1um. 
